Managing Workload and Performance through Situation Awareness in Aviation Systems
Answers in bold
1. SPAM differs from SAGAT in that the former:

(a) queries operators while the situation remains available

(b) measures accuracy and response time

(c) uses physiological measures

(d) a & b [correct answer]

2. What limits the construction of an event-base in situation understanding?

(a) environmental distractions

(b) eye movements

(c) operator frustration

(d) working memory capacity [correct answer]
3. Which of the following is an example physiological measure of mental workload?

(a) salivary cortisol [correct answer]

(b) NASA-Task Load Index (TLX)

(c) control activity

(d) time estimation

4. Detection of course deviation represents a(n):

(a) subjective measure of SA

(b) primary task performance measure of WL

(c) implicit performance measure of SA [correct answer]

(d) explicit query of SA

5. "Non-optimal" workload:

(a) does not affect most activities

(b) is excessively high

(c) is excessively low

(d) b or c [correct answer]

6. Poor cockpit task management occurs when:

(a) workload is moderate

(b) situation awareness is moderate

(c) more important tasks are preempted by less important ones [correct answer]

(d) less important tasks are deferred

7. What is meta-SA?

(a) operator's judged awareness of his or her own situation awareness [correct answer]

(b) a cockpit management strategy used during high workload

(c) an implicit performance measure of situation awareness

(d) the best measure of situation awareness

8. When resources demanded exceeds resources available:

(a) performance breakdown may occur

(b) operators may change strategies

(c) situation awareness may increase

(d) a & b [correct answer]

9. If performance has plateaued on a data-limited task, adding more resources will:

(a) improve performance

(b) interfere with performance

(c) do nothing [correct answer]

(d) lower SA

10. What is the dependent measure of SA used in the Situation Awareness Global Assessment Technique (SAGAT)?

(a) response time

(b) recall accuracy [correct answer]

(c) primary task performance

(d) secondary task performance

11. Performance and workload disassociate more often when:

(a) there is low WL [correct answer]

(b) there is high WL

(c) the tasks are resource limited

(d) there is no resource competition

